PreCalculus
Review #1 Matrices





Name________________________

Name each matrix.






1.  ___________

1.  R = 
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2.  S = 
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2.  ___________


3.  ___________

Solve each equation.

3.  
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4.  
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4.  ____________

Perform the indicated operations.


5.  _____________

5.  
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6.  
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6.  _____________

7.  
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8.  
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7.  _____________


8.  _____________

9.  
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10.  
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9.  _____________

11.  Find the inverse of 
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10.  ____________

12.  What is the 5 x 5 identity matrix?
11.  _____________

13.  Find the area of a ( with vertices (8,0), (5,6), and (-2,10).
12.  _____________

14.  What is the value of 
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14.  __________

A.  43
B.  115
C.  51
D.  123

15.  Find the value of x for which the equation is true.  
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15.  _________

A.  20
B.  25
C.  1
D.  4

16.  If the system 
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 is written as a matrix equation, by which matrix would you multiply both sides to obtain the solution?

A.  
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B.  
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C.  
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D.   
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16.  _________

17.  If M1x4 is multiplied by N4x1, what are the dimensions of the product?

A.  4 x 4
B.  1 x 4
C.  1 x 1
D.  4 x 1


17.  __________

18.  Write as a matrix equation, then solve using the inverse.  
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18.  __________

19.  Solve using cramer’s rule.  
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9.  __________

20.  If A2x4 ( B4x1 what are the dimensions of the product?  

20.  _________

21.  If A2x6 ( B = C2x5  ,  what are the dimensions of B?

21.  __________

22.  If D ( E7x1= G1x1,  what are the dimensions of D?

22.  __________

23.  What is the product of a matrix and its inverse?

23.  __________

24,  What is the 4x4 identity matrix?






24.____________

25.  If matrix B = 
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, then detB = ____.

25.  ________

Answers to Review #1

Matrices

1.  R3x1 
2.  S2x4
3.  x = -12, y = 4, z = -5

4.  x = 1, y = -2

5.  
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6.  
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7.  
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9.  
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10.  163

11.  
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12.  
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13.  15 u2

14.  B

15.  D

16.  D

17.  C

18.  
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19.  x = 4, y = 
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20.  2 x 1 

21.  6 x 5

22.  1 x 7


23.  I



24.  
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25.  -1

_1234370549.unknown

_1234371469.unknown

_1234371907.unknown

_1234437063.unknown

_1234437333.unknown

_1234437468.unknown

_1234437486.unknown

_1234437538.unknown

_1234437437.unknown

_1234437160.unknown

_1234437284.unknown

_1234437110.unknown

_1234436911.unknown

_1234436979.unknown

_1234372321.unknown

_1234371586.unknown

_1234371821.unknown

_1234371528.unknown

_1234371095.unknown

_1234371290.unknown

_1234371389.unknown

_1234371139.unknown

_1234370792.unknown

_1234370860.unknown

_1234370670.unknown

_1234369865.unknown

_1234370374.unknown

_1234370516.unknown

_1234370206.unknown

_1234369497.unknown

_1234369758.unknown

_1234369462.unknown

